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OH 

0.9 H 

3xCH 

3.0 H 
OH 

1.0 H 

OCH2+CH 

3.0 H 

NCH2+CH2 

3.9 H 

HOD 

NMR 

Solvent 

4xCH3 

12.0 H 

2xNCH 

2.0 H 

8xCH 

8.0 H 
NCH2+CH2 

4.0 H 

OCH2+CH 

3.0 H 

diethyl ether 

                  ↓ 

diethyl ether 

0.4 % w/w 

�

��

��

�

���������	�
��
�����������������������������������������������������������������������������������������
��� 

�

�

�

�

�

�

��

��

�

!���������∀�#�∃��%&&∋(

)∗�



 

255075100125150175200

 

2xC 

5xCD 

↓ 

2xCH 

CH 

C 

OCH2 

C 

2xNCH 

4xCH3 

NMR 

Solvent 

+CH 

NCH2 

5xCH 

CH2 
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